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Unit 1

' Exercise 1
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1. Why does the woman look so unhappy these days?
A. Because her new husband does not like her son.
B. Because her new husband does not treat her well.
C. Because her son has not accepted her new husband as a family
member.

2. Whose sixth sense are the two speakers talking about?

A. Mike’s. B. Robert’s. C. Luke’s.
3. How old is the woman now?
A. 29. B. 26. C. 39.

4. When was the man bitten by the snake?
A. Last Sunday afternoon.
B. Yesterday morning.
C. When he was lying on the grass yesterday afternoon.

5. What does the mother tell her son to do?
A. Wash his own clothes.
B. Look for his own night shirt.
C. Go to bed in a night shirt.
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10.
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According to the man, what could be a disadvantage of curing
blindness?
A. The new treatment methods are very dangerous.
B. Suddenly being able to see could be a big shock for some blind
people.

C. It’s very expensive.

_How does the man know what the weather will be like tomorrow?

A. He saw it on television.
B. His friend told him.
C. He is able to look at the sky and guess.

. Why might the woman be unable to go shopping tomorrow?

A. Because the weather is bad.
B. Because she is blind.

C. Because she has other plans.

Wi TBOM R, I SRR 11,

. Why aren’t sharks a very big danger when in the sea?

A Because they don’t eat people.

B. Because there are very few of them.

C. Because they don’t live near land.

Why did the man go swimming in the sea despite the fact that it is
sometimes dangerous?

A. Because he enjoys danger.

B. Because he didn’t know that it is dangerous.

C. Because it’s not always dangerous.
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16.

17.
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Which of the following statements is not true?
A. The woman touched a shark at the zoo.
B. Sharks are very dangerous.
C. The woman saw many types of shark.
WS 8B b Kt , M1 2& 55 1255 14581,
Which of the following is not a result of eating too much sugar?
A. High blood pressure.
B. Gaining weight.
C. Heart problems.
Why has the man been eating a lot of chocolate recently?
A. Because he thinks it’s delicious.
B. Because he wants to become fatter.
C. Because he is stressed.
What is another possible cause of high blood pressure?
A. Watching too much television.
B. Being too stressed.
C. Drinking too much beer.
Wr OB A B, Ml & 55 155 1778,
How does Mrs. Liu know that her son has been naughty?
A. Her son told her.
B. She personally saw him.
C. Her son’s teacher told her.
When did Mrs. Liu speak to her son?
A. Yesterday. B. Today. C. Two days ago.
Why does Mrs. Liu forgive her son?
A. Because she loves him.
B. Because he said sorry.

C. Because he is too young to understand what he is doing.
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18. At the beginning, why was Mrs. Zhang walking home very quickly?
A. Because somebody had attacked her.
B. Because she was being followed by a dog.
C. Because the weather was very bad.
19. Why did Mrs. Zhang start to run?
A. Because it was so dark.
B. Because she heard a loud sound.
C. Because she saw the dog.
20. Why did Mr. Zhang find Mrs. Zhang’s story so funny?
A. Because the dog that was following her is actually very friendly.
B. Because there was actually no dog.

C. It is not mentioned.
;@iercise 2
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1. What do we learn about Li Ming?
A. He always speaks loudly.
B. He sometimes speaks in a low voice.
C. He never speaks loudly enough for others to hear him.
2. What will the speakers do?
A. Go to a repair shop.
B. Call their friends for help.

C. Repair the car themselves.
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3. Why was the man fined?
A. For smoking where he was not supposed to smoke.
B. For destroying the “No Smoking” sign.
C. For spitting onto the ground.
4. Which of the following is true?
A. The fire was put out as soon as the firemen arrived.
B. The burnt building is the second highest in the city.
C. Most survivors in the fire were in a state of panic.
5. What can we say about the woman’s sense of touch?
A. She has a rather good sense of touch.
B. She does not have a good sense of touch.

C. It is very hard to tell whether it is good or not.
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6. What does the boy mean when he says that maths makes his brain
ache?
A. That he is too busy to do any maths.
B. That he has brain problems and should see the doctor.
C. That it is too difficult for him.
7. What does the boy recommend the girl to do, and why?
A. Give up maths, because it is too hard.
B. Continue doing maths, because it is very useful.

C. Give up maths, because it is useless.
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10.

11.

12.

13.

. What is the girl likely to do?

A. Try to solve the problem by herself.
B. Go and ask one of her classmates for help.
C. Call her maths teacher for help.

W T — B Rk, B SR B 11,

. What did Li Tong do on his actual birthday?

A. He watched scary movies.
B. He had a big party with all his friends.
C. He had a special meal with his family.
Why would the girl probably not have enjoyed Li Tong’s party?
A. Because she is a lot older than him.
B. Because she doesn’t like watching scary movies.
C. Because she doesn’t like eating cakes.
What did Li Tong wish for?
A. His brother to come home from Canada.
B. We don’t know.
C. A car.
WT 55 8BRS kL, I Z& 55 12 5 1455,
How does Lily know about the bowl found by the farmer?
A. She has already seen it in a museum.
B. She has read the story in a book.
C. She works for the government and heard about it there.
Which of the following is not listed as a reason for keeping valuable
historical items in museums?
A. So everybody can see them and learn about them.
B. So they can be looked after by the government.

C. So the museums can make lots of money.
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When will the two speakers go to the museum?
A. Next week on Thursday.
B. This week on Thursday.
C. This week on Tuesday.
WSS OB A EL , ISR 1SR 177
According to the woman, why has her grandfather lived so long?
A. Because he has a helper who comes to his house every day.
B. Because he has had a healthy life.
C. Because he lives alone.
How old is the woman’s grandfather now?
A. 94. B. 80. C. 95,
Which is not mentioned as helping you live a long life?
A. Eating lots of fruit and vegetables.
B. Eating lots of fish.
C. Doing lots of sport.
W55 10BE AL}, ] 255 18 22043
How did Bob know where the man was hiding?
A. He could hear him.
B. He could see him.
C. He could smell him.
Why couldn’t Bob have the present that he wanted?
A. Because it was too expensive.
B. Because he wanted a live animal.
C. Because the pet shop didn’t have the present that he wanted.
Which of the following would likely be a good job for Bob?
A. Police dog.
B. Racing dog.
C. Guide dog for blind people.
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1. What does the woman usually do first after getting up in the morning?
A. She usually uses the bathroom first.
B. She usually sniffs the fresh morning air through the window.
C. She usually washes her face.
2. What do we know about the man?
A. He will clean the shoes after he comes back from the party.
B. He is going to ask a friend of his to go to the party with him.
C. He is too busy to brush the shoes himself.
3. What does the woman think of the task given?
A. It is even more difficult than it looks.
B. It is less difficult as it looks.
C. She can finish it if the man helps her.
4. Which of the following is true?
A. Both speakers are very happy to work under Liu Hai. |
B. One of the speakers does not think highly of Liu Hai.
C. The two speakers will ask Liu Hai to invite them to a meal.
5. What might be the relationship between the two speakers?
A. They are father and daughter.
B. They are classmates.

C. They are close neighbours.
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6. Why can’t the man buy a white T-shirt?
A. Because it is too expensive.
B. Because the shop doesn’t have the right size white T-shirts.
C. Because the shop doesn’t have any white T-shirts left.
7. Why does the man not want the first nightshirt that the woman shows
him?
A. It’s too cheap. B. It’s too long. C. It’s too shiny.
8. How much does the man pay for the nightshirt he wants?
A. £5. B. £10. C. £50.
WSS TBOM R, A SO 1,
9. Why is the man not wearing a jacket?
A. Because when he left home it was not so cold.
B. Because he doesn’t have one.
C. Because he doesn’t think that it’s cold.
10. How does the woman feel when it is cold?
A. Angry. B. Calm. C. Depressed.
11. Which of the following is true?
A. The man has been to Spain.
B. The woman went to Spain alone last year.
C. The man does not like cold weather.
WT 45 8B R}, I 5 12 2 14780
12. Which of the following did Mary not do?
A. Play football. B. Go swimming. C. Play tennis.
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14.

15.

16.

17.

10

Why does the man not do much sport?
A. Because he is too busy.
B. Because he is too lazy.
C. Because he is too old.
Except for health reasons, why is sport important to Mary?
A. Because it’s easy to do.
B. Because she doesn’t need much money to do it.
C. Because she enjoys it.
W OB ALK, 2545 15 % 1740,
Where will the man do volunteering work?
A. At a hospital.
B. At a restaurant near his home.
C. At a park.
Why might some people not see how much litter there is in the park?
A. Because they don’t go to the park very often.
B. Because they only look very quickly.
C. Because they don’t spend much time in the park when they go.
Where will the man and his friend probably eat together?
A. At his home.
B. At a Chinese restaurant.
C. At an Italian restaurant.

W25 10BAL R, 1] 2555 18 22048

. Which of the following is not mentioned as a reason for some people

thinking zoos are a good thing?
A. Zoos can make lots of money.
B. Zoos can protect animals.

C. People can learn about animals at zoos.
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20.

| BEWN-B—TFH

According to the speaker, why can the animals sometimes become
scared?

A. Because it’s very loud in zoos.

B. Because people are sometimes rough when touching them.

C. Because they don’t have enough to eat.

What do some people who don’t like zoos say about the life of animals
in zoos?

A. Tt is too short.

B. It is not natural.

C. It is OK, but should be better.

11
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1. What can we learn from the dialogue?
A. The man’s mother tongue is not English.
B. The woman can speak English well.
C. The woman speaks English as her mother tongue.
2. Who thinks English will change all the time?
A. The man does. B. The woman does. C. Both of them do.
3. What do we know about the woman’s students?
A. They can understand all what she says in class.
B. They often ask her some strange questions.
C. Some of them fail to understand her in class.
4. Why does the woman have to work very hard?
A. Because she wants to be a model of the other workers.
B. Because she is the only one to support her family.
C. Because she is still young.
5. What can we guess about the woman?
A. She does not really want to invite the man to a meal.
B. She never remembers what she has said.

C. She likes listening to any recorded conversations.
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